
 

Freequartn Guses

let us analyse the UMS states fur
the free qualm gases starting with
Fermions

Hinter we dot from a 1 prk.ae
Hilbert space er and obtain oration 1
andiktion operten alt cop ferkgel

alf artig f g
The the evolution is gien by a Haultain
H L l Er tun 1 potiche AS via

Cfypically unbaded

Xtlalt a leiht f

Fr a f KMS state W we can capte

Wlatt f dg 9 wfalgtalftcg.fr
F wldglatt t gif
Ä oldiplatlfDalgt tag f

Älädtf dg t g f



Bf linailg of W and at wethestem

w altfutett f dg g f

As it yo Lutettt is in wlible and
we can set g IN re t f ÄH
and thus

e Ptt

wlattes dg 29 ÄH 5
In paticher fer the number operator
occupation umher in state g

Nlg g dg
Htt

WING Lg if 97
NB The RAS is coupled in the 1 points

With a similar calculation one can

compete 4T

ä III E.IE D



Obviously this state is completely

3 üüüüüü

WI e

8uindetlLfi.S9igDGusam0EgzSts1l.l1

pAidechsitgopIBmilwytmGNS
iepregntalinantnseludstoTheArchi

VgrsreprntehLsiHg
ElhIx0Eth1Rg
IooRoaglfssnslalfD _afVAfIottHtN
aElrsfJprtrdeshdes.TheThis is quasi equivalent to Fock

iff 8 is trau dass

hon trial proof onkel



Bosons Bose Einstein Condensation
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